Y X7 A I 1 N A A
X5y HENE % % F H I %%
%%#1 1 15
2o i 25 1T 1 15
BFREZORME i srs 1 (il o i) 1 30
EWMAFT (I SAFR) 1 15
PN 2 1 30
HEF 1 30
(IR 1 30
‘ T ARCT 1) 1 30
N RS B (B e ah) 1 30
- SO HR BEEEI (35 SCHEMR) 1 30
ARG R T (2 2=/ — 3 VORE) 1 30
ARG T (A RIBAER AN D FEEE) 1 30
we 1 15
% AL IL AR 1 15
I =F 14 345
. B 1 (AEo#EE) 2 45
MNEDOHEE & FERE  [MRETREE T (AR DHERE 2 45
ER %2 1 30
JREETF T (R3) 1 30
JREEF T (K im) 1 30
Pmam 1 (FF - 1EER2S) 1 30
Ym0 (JH kEs) 1 15
el GEIm-B - NoW - 5085 - 1) 1 30
o PRIV QR es - ZMEESEgs - FPEHI O BE - FLIRER) 1 30
BIRORK S H L [FEmamV GEEEE- )V e F— 3 0) 1 15
(A1 DAL Popiam VI (IARRAR - R 25%) 1 30
PRIl ONE D ENR) 1 15
I ER VI CRE#h D FE95) 1 15
BEGE 1 CRYpEE) 1 30
ERGs I (R « Bl - SAEOTRHE - FREvE - Bl & AR ER) 1 30
TBREGHI (k) 1 15
G ES 1 30
B IR 1 15
LR S 2 & M & B A 1 30
R B th 2 fE Ak 2 30
ik 2 M D & < B i} 2 30
/N =F 25 570
FEFG 1 GBEORME) 1 30
FHEAER I B - FHBE) 1 15
F )7 iE T ONE BRI O k) 1 15
FHHEFE CGEE DRI LI 72 Hl) 1 30
R Fl BN (CRagimfe) 1 30
e e FH#ITIEIV (FREBREE &1 2 5 50R) 2 45
FlETIEV (NG ETE 2 D HI) 2 45
FHHEFEVL (RZWNCEE D BEEhHl) 1 30
FHEITEVL QBRI 5 EBIH) 1 30
FHITEVL (RIS U-F# - JEIRPIE#) 1 30
ik - FEEEEM G 1 (F5EfR) 1 15
|k - AR T (HkA S D ARG 1 30
i - TEEE#Eim |k - EEFEHELET] M TEL T A~DFEH) 1 15
ik - EEFHESFEN (EETEERETDIA~DFEHE) 2 45
ik - TEEHHESVEN (EHEOREBREE - 2 ) 1 30
R T T 1 30
N 1 15
RAGREE (EEE DR DT O DFE ) 1 30
R NGB ANFEHESE T (EMfEHEIREEICH DR RA~DFE) 1 30
" WMAFBH#ETED (EJEICDEVEFRa Y ha— LA YEEE 3 558~ F#) 1 30
RAFH#HESEN QTSR & LW SRA~DFH) 1 30
RAEHELENV (FH#EORBMEY) 1 15
s N EIED T DFE# 1 30
AL SEEH 1 VEISHER S & o) 1 30
EHEFEFEL (GEORERFEY) 1 15
/NRE AR 1 15
INE =L NG (2 BB #) 1 30
e INRE#ELET (BEREEZ /NI~ FEH#) 1 30
NREEFENL (GEORERMFEY) 1 15
ﬁ&ﬁﬁ%gﬁ LR A EiE) | 30
L g o oY PEOD ek Z HEH 1 30
RIS L | (AN F ) 1 30
RMEEHFEL (GEOREMFEY) 1 15
A e, L 0
/e e Ui > E{LOD % 1 30
UEAEEE o FtR a1k 1 (IR 0 b 2 51~ T 2) 1 30
R EEFEL (BEOREMFEY) 1 15
FEFEEwm 1 (EREHE L KEEHE) 1 30
) . FEEERI (GHEEIHLEELS) 1 30
EEOHE L EE  ([BEEER (AE#OIEE) 2 45
FHENIE 1 (W50 JEHE) 1 15
e 11 (R 2D SE2ES) 1 30
/N =F 17 1,125
HBEEFEE] @Ia=br—va) 2 60
HEHEIIE N (HEAENRED, FHEBEOER) 2 90
Ml - EEFHERFEE 1 (v 2 —, 2, e iiEtr o % —) 1 45
ik - EEFEERIZE N GHNE#., BT, e E) 2 90
RAFE#EFIE 1 (%) 2 60
e b i SIS PEREEE (e 1 30
g ERIES IR 2 90
= NREBEHFEER T (G 1 30
= INREHLIE N () 2 60
A 2 90
FErRE Y 1 1 30
B EHEEFEE I 2 60
B OF L L K ] 2 90
/N = 24 915
& #t 110 2,955




